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n 365-n+1 W("2 von n...") Formel D=

4 1 365 0,00000 1-PRODUKT($C$4:C4)/(365^B4)
5 2 364 0,00274 1-PRODUKT($C$4:C5)/(365^B5)
6 3 363 0,00820 1-PRODUKT($C$4:C6)/(365^B6)
7 4 362 0,01636 1-PRODUKT($C$4:C7)/(365^B7)
8 5 361 0,02714 1-PRODUKT($C$4:C8)/(365^B8)
9 6 360 0,04046 1-PRODUKT($C$4:C9)/(365^B9)

10 7 359 0,05624 1-PRODUKT($C$4:C10)/(365^B10)
11 8 358 0,07434 1-PRODUKT($C$4:C11)/(365^B11)
12 9 357 0,09462 1-PRODUKT($C$4:C12)/(365^B12)
13 10 356 0,11695 1-PRODUKT($C$4:C13)/(365^B13)
14 11 355 0,14114 1-PRODUKT($C$4:C14)/(365^B14)
15 12 354 0,16702 1-PRODUKT($C$4:C15)/(365^B15)
16 13 353 0,19441 1-PRODUKT($C$4:C16)/(365^B16)
17 14 352 0,22310 1-PRODUKT($C$4:C17)/(365^B17)
18 15 351 0,25290 1-PRODUKT($C$4:C18)/(365^B18)
19 16 350 0,28360 1-PRODUKT($C$4:C19)/(365^B19)
20 17 349 0,31501 1-PRODUKT($C$4:C20)/(365^B20)
21 18 348 0,34691 1-PRODUKT($C$4:C21)/(365^B21)
22 19 347 0,37912 1-PRODUKT($C$4:C22)/(365^B22)
23 20 346 0,41144 1-PRODUKT($C$4:C23)/(365^B23)
24 21 345 0,44369 1-PRODUKT($C$4:C24)/(365^B24)
25 22 344 0,47570 1-PRODUKT($C$4:C25)/(365^B25)
26 23 343 0,50730 1-PRODUKT($C$4:C26)/(365^B26)
27 24 342 0,53834 1-PRODUKT($C$4:C27)/(365^B27)
28 25 341 0,56870 1-PRODUKT($C$4:C28)/(365^B28)
29 26 340 0,59824 1-PRODUKT($C$4:C29)/(365^B29)
30 27 339 0,62686 1-PRODUKT($C$4:C30)/(365^B30)
31 28 338 0,65446 1-PRODUKT($C$4:C31)/(365^B31)
32 29 337 0,68097 1-PRODUKT($C$4:C32)/(365^B32)


